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Abstract : This study examined a method for assessing the influence of falling ice and snow blocks on the
road users, toward contributing to cost reduction in winter road management by reducing the work of
removing snow and ice accretion on road facilities and toward preventing accidents caused by falling snow
and ice in snowy cold regions. Surveys were done to clarify the relationship between the basic structure of
road facility members and the accretion of snow and ice to them, and the relationship between the height
and the quality of snow and ice that fall and the impact load and scattering conditions of falling snow and
ice blocks. The surveys revealed that the wider are the members, the greater is the snow and ice
accumulation, and that members with round cross-sections tend to accumulate less snow and ice than those
with rectangular or triangular cross-sections. A falling snow block experiment revealed that the impact force
tends to be great for a block of compacted snow and that the area of scattering tends to be great for blocks of
granular snow. The factor that had the closest relationship with the impact force was the falling height. The
factor that had the closest relationship with degree of scattering was block size. Based on the above findings,
the authors proposed a method for assessing the influence of falling snow and ice on road users on the basis

of size of visible snow and ice blocks.

Key words : snow and ice accretion, Snow and ice falling, Impact load, scattering conditions, assessment
method
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